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GeomETRY (Q 4, PAPER 2)
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4 (a) Inthe diagram, ac is parallel to be, .

|£bca| =80° and | Zcab| =55". 5
(i) Find x.
(if) Findy.

(b) Prove that the sum of the lengths of any two sides of a triangle is greater than that
of the third side.

(c) The right-angled triangle oxy is the image of the triangle oab under the enlargement

of centre o and scale factor 1-2.

|abl = 4 and |ox| = 6.
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(i) Find |xy|.
(if) Find |oal.
(iii) Find the area of the triangle oab.

(iv) Find the area of the figure axyb.

ANSWERS
4 (a) (i)55° (ii) 45°
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